NDugwsy ~ DAVID  KELEcH!
A5lENnGgol]oog
CHEMICAL  ENGINEERING
ENG382

fCy) = cosly)
Let cos y=o :
_adqu Y to the LHAS and RHS
4 +0 = Cosy +Y
Yiey = Cosy; + 4
Ry e””” R > S
- zz¢>" LL»’?D{m%{izl -
a4 coslmdy
Yo - ©.05
when (= © . ISP
g8 = Cos(y) + Yo
= Cos(o.05) + 0-05 ‘
% b.qgf-} + O-05
= 1-0499 ]
N = 1-05
when 18 ‘
‘jtl’. cos(Y) e 9y 0o o ,
cos(C1-0499) + 1- @4‘1‘1_ s
©.999% + 1049y
= 2.049%
. When 1 2
\ﬁ%t Ccosy, + Y bs
i _cos CQ oqfr‘l) i Q 04‘]‘7 B
) . Qm33797ngwo%q7- ”
N .t 3-049Q. W

Scanned by CamScanner



u)hen ) ; - 3
cos(3.0490) + 3:0490 il
T 40475

When | = 4
Us = Cesy, + Y4
Cos(4.0475) + 4-0475
T 0:9975 + 4:°047g
= 5-0450

: =152z
f£lz) = e -z + cos(z)
-|5:
e = Z - CC/S CZ_B = @
- 2L

L= g ¥ Cos (2)

- I15L|{

LACTI N * cos(z)
Zos ©. |

UO\W@/(\ | = ©
2l = e7!"% 4+ cos(ze)
- e—ISCc.I) C,os(;o.,])
= ©0-223) 4+ ©.999q
Z, = 1.2a3)

when 1= |

a2 e 4 ces (2))
-15(1-292 ;
e 7+ cos(i-2131)

1107721078 4+ ©.9937
Za = ©.9997
when | = 2

: | BZg : ;
Z3 = €+ Cos(z,)

Scanned by CamSca%nner




-i% (c-9997)

e + ces (o-9q9q7)

GoV#%OxIQ“E* + ©-9998
25 = 0.9998%
w ben (= 8
i .
Zy = %% 4 oo (23

- -1%(0-999%
i ) + Cces(o-9998)

Zy = ©-9993

Zs - @

+ Cos CZq_)
e‘-,g-,[c.-‘]qqg) QQS(,O"qqq.g)

+

ré

~1

3.0682x|0”
g T ©-9998%

(31

Scanned by CamScanner




